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Review Questions for Unit 1

1. Hurricanes are powerful storms that can cause widespread damage to large areas. Hurricanes
" typically retain strength or gain strength when they travel over water and lose strength when
they travel over land. The following data show the maximnm wind speed of a hurricane six
hours after it hits land.

150 138 126 114 102 90 78

a. Write a recursive rule for this pattern:

Stok woHla 150 ond. sulofract 1=

b. Write an explicit rule for this pattern:
Y =150 —12x
G. Is this an arithmetic or geometric sequence?
Avnmehc — Constant rode ef'change
d. 1If this pattern continues, what will the maximum wind speed of the hurricane be 10 hours
after it hits land? vz 150-1210) - 30moh,
y= 150= 120 Y =25 mMp

e. Use the data to make a graph. Label and scale the axes.

\
n BN
‘“o ~-

O 1 2 24 5 &
humber of) howrs

Final Examination Review Questions Unit | Algebra [ Model Currienlum Version 3.0




Name: : Date: Page 2 of 2

2. A manufacturer of designer watches decides to build new warehouses to produce a larger
quantity of watches. Due to new technology and more efficient use of resources, the
manufacturer finds that operating more warehouses leads to a significant increase in watch
production. The table below shows the relationship between the number of warehouses in
use and the quantity of watches produced each month

60 90 133

a. Write a recursive rule to describe this pattern.

- 32
Sy with 40 and mulply by 5 or 1.0

b. Write an explicit rule to describe this pattem. X1 2 >x -1
Y= Yo(i-5 o Y= L{O(E

¢. Is this an arithmetic or geometric sequence?

Beomedric — ratt of charge v MOT constau . .
oud- mulstplied by o censteurt rodt

d. If this pattemn continues, how many watches per month will the company produce if it
operates 5 warehouses?

tj: Lfo("lB)S—,

Y _yo(5.0625)

b: 202,
OLPPKOK. Q

135 (1.5) Wi o oLt
N
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Review Questions for Unit 2

1. Solve each equation for the unknown value.

a) 4c+8c=-55+3¢

¥ ¥e - -554+%¢
—3C —BC
~58
45 g
Ca ol o7 T2

4

)5Sw-T7=2w+1

_w ,_,QW’
Bw - T=
7 17
Bw f/?
"'g Z

&) 3(11 + 63) — 8y =3
324185y -8y = 2

z3aloy =2
fga

2> =2

oy = 3@

Ve 1o

b) 4 - 24+ 4f =8 —3

%_5,\,_.;2&4 =~ i
4ou  +24
g5 - 12
ﬁg S

,F - "féﬁ [, 25

d) x + 6x + 49 = 2(5x + 59)
Ty 4+1q = 10x + U¥

- Tx ~71Xx
G = Bx 4+ 11L&
- ¥ 18
“8 - 22
e 3

D) 8w—5(5w—~8)=13 + 5w
BW -~ 25w +4O0 = {B+5Ew
—YIw U0 = 1340w

AT I
4o = 13 +o02w
-1z T3
7 — Do/
2+x o 2_:[ = W
h)({ 2 “) ]J)Sm 22
| R4+ x= 1

x= 4
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3. Solve the equation %x # 2 % = %x and check your solution. Do not change the common

3 3 1 1%
fractions to decimals. 2o =2
< 3
o/~ € _ 74>

L

TR
Hx +15 = 3%
— X

\3:.‘—7( X‘:‘-is

4. The area of a trapezoid is given by the formula:

/4% A=%&+Mh
\>

A is the area of the trapezoid, a and b are the bases of the trapezoid, and 4 is the altitude
(height) of the trapezoid.

*a. Solve the equation for b. Q A
5 =k

b. If a, b and h are all measured in inches, what units would 4 be measured in?

. a2
inches

5. Solve for x and graph the solution on the number line.

2x+5<6x—-3-2x

2)(*5‘{:le_3

— 2x —AX
ez ax-3
P

gE2x  q=xt

01 22 US G
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Review Questions for Unit 3

1. Determine whether the graph represents a function by using the vertical line test.
a. ] b.
-
Function? 0 Function? \/ e S
(Cails Anevedical (Ve fest)
2, Identify whether or not the relation is a function. Write the domain and range.

@(5, DEDEH  Not o Ructien

aomMain %;’2,5,"% chawﬁ)

| rongl g o 7, 3¢ (Waiw/ﬁ)
3. Juan flv)= 3x+ 5

)= 3CuM>
find: £-u)= 1 )= 3Cu

— “’7

&, QWUU () = L{—x+5(x+l) —dx + S
fid: o) = 2% £(0) = UL+ 3(6* V) -2ALHHS
S24 18+ B 12 +5
= 3%




Review Questions for Unit 4
‘Writing Equations of Linear Functions

Slope-Intercept Form: y = mx+b Point-Slope Form y — y, = m(x—x,)

Standard: Ax+By=C
1.

Find the slope of the line from the graph.

rise _ -3
rwn T Y

Determine the slope and y-intercept for each equation:

Sy = x+20
a. ’+_—x+5yf—*20 ?;\l . S\O‘Of— = —5[— \/,,\fﬁevt;eﬁ = (OJ ‘-P)
= 5.1:>,.-+;IO Y= —SL%“?“‘}
b. y+3=4(x+5)
+ 20 . . 7
W'% L{‘x -2 S¥ope; ~ \/-wﬁﬁﬂefﬁ = (01' />
yzo Hx+ [_7
3. | Find the equation of the line that is parallel to 2x+4y =9 and goes through ( ,—2) slope
cont slope Form g “"%‘HQ - povoliel LS -
\/+2 ” ;ZCK'(") —t +3 same slope
1w = ”’Y-
4. Find the equation of the lme tl;:l;txsperpendlcular to 2x—y= gand goes through (3,5).
Wg\opc: 52_"7”5,‘ ¥ Slpe=2
N9 «f 5 (x- 5> y=2x ¥ ,pefpzrd'ia,dw’lwf_%

Yo ax+6.5 (Muf &PP:AHQ, fE’d\P{U\M
Find the slope of the line that contains the points {—1,9) and (~3,4). Then wnite the equation gb@fgg)

of the line in slope-intercept form. :510pe va-Yy o — i 5
a_1r T~

%am*y ~1+3 =

n
2
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2.) Graph each equation on the coordinate grid provided,
L2 -3
y=—x-3 b) y=—x+435
Ce) y 3% )y y
; ,
X = )
) / : <
FEEEEENE 4/56 ¥ - ! \\_x
; P —6-3-‘~1—2-? 113415"\.]
p,
-+
// &
[ L
J:_

’c/)-;‘y—2=%(x—3) (3,2) N
Slopt.™ 2

-3

i Y|

2 -8 B ;”;x‘*’y:ﬁ% y = Tl
LRI T TaxeE s "
3
‘ X
: ﬁ A
¥ ' ¥
EEREEELNEE N -55-44:1_? I N3 285 61T
Pl 2 Y
jd/ X -:‘ IJ
KT
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Review Questions for Unit 5

1. A local ice cream shop keeps track of how much ice cream they sell versus the temperature
on that day. The following table shows the temperature and ice cream sales for 12 days.

Make scatterplot of the data and then draw a trend line that you feel best fits the data points.
Label and scale the axes appropriately.

15°
-zaj
@52
Lo !
50
16.4 325 > 5 o
119 185 . 50
15.2 332 "\bﬂh UugP Tl
18.5 406 G Go0
22.1 522 ‘9\?5’ 250
194 412 4 30 /
25.1 614 2
23.4 544 P r
18.1 421 30: v
22.6 445 15°
17.2 408 {00
5o

5 o S 20 25 3p
Hemperodwr &
a. What is the independent variable in the problem?
. V]
jerperadiire. (°
b. What is the dependent variable in the problem?
e creg SOACS
c. Find an equation for the trend line. You may use the regression feature on your
calculator if you choose. Round the parameters to the nearest 0.1

y=20.1x- 1895 (regression)

d. What is the slope of the trend line? What does the slope represent in the context of the
problem? Slope = 0.1 Ce Creoyry soles ivredse bj
ope 23,10 foy ealn | °C  Efeasc

T e peaFur e
e¢. What is the y-intercept of the trend line? What does the y-intercept represent in the

context of the problem? ~159, 5 Loen -’cﬂmpﬁf afUVC NS Oac}
\ iRreeet = - e e cream Sales

ove —#59,50
Algebra I Model Curriculum Version 3.0 %}/\C}C\_:SQ ot
ool Sense )
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f. Describe the strength and direction of the correlation in the scatterplot.

= 0.9575 shong posth U

g. Use your equation to predict the total ice cream sales when the temperature is 21.3 °C. Is
this an example of interpolation or extrapolation? Explain.

Y= 2o.1 (20.2)- 159.5  y=48l.6>
= (Ut 3 - V59,5 (Wpal&:‘ﬁt)ﬂ)
h. Use your equation to determine the temperature if ttge sales were $450.
US =300 (05 805
=609, 5= 20,1« 20,25°C
EEE - 2oy
20,25 =\«

2. The following data represent the number of text messages sent in one day by a group of
students:

(3,5,7,12,13, 14, 21,23, 23,23, 23, 29, 39, 40, 56 |

a. To the nearest 0.1 what is the mean number of text messages sent by the students?

AN = 22,0

b. What is the mode number of text messages sent by the students?

mode = 23

¢. What is the median number of text messages sent by the students?
Medtoin = 23
d. What is the range in the number of text messages sent by the students?
range. = -3 - 53
e. Whatis the interquartile range (IQR) for the number of text messages sent by the

students? TR« 2q -L-]Q'LI—’?

f.  Which number text messages appears to be an outlier? Use the I} *IQR rule to check to
seeifthere are any outliers. | 5(17)= 5.5 A 4 05,5 545
162 i R-255 = 713.5

Slo e ary outtiev

g. Ifthe outlier is eliminated which statistic will change more, the mean or median?
Explain. \/) ‘ﬂ%
mean - ook Wy extre
i 8\{\ ¢ fow values
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Review Questions for Unit 6

1. Solve the system by graphing

y=2x-17

y=—2—x—3 ]
3 A

/
2. Solve the system of equations.
a. b. c.
-3 (”2)’”9) (o O’/;) x=3y49 > (95)"-0 5@:+4y..—_—30) (* () O>
Ix+4y =18 ’ 6x—5p=2 ~% fx—9y =—18)
B s ‘(g +q)_5y~,;7 15 % 4\ 2y = —O
%fbyilgz %§j+gq~5r>9 TIS *dsy =0
— . 7 - O
—2y = F% \By rEH LG 57\;1 _ o
e - S Y~
y: Q/;Z \’% V3
Y-—'dl" 57{_\‘,L4\_/: tgg
X & 2+ -9 " - 5(_u,>+ol Gy U(o) = 33‘0
%'*2(%?)’ % = -2+ Bx*.g)(—;_ig.
- -~ -3 Rent =
X “‘:%‘l e X =
')( - o X = —tﬁ

3. You are planning a party for your friends. You need to buy enough cupcakes and drinks for your .
guests. You have invited 20 people. You determined that cupcakes cost $0.40 and drinks cost $0.80

each. You have 512.00 to spend on the cupcakes and drinks. How many cupcakes and how many drinks
should you buy?

- C4+d =20
10 aveS O = % copred | o
Ioojrf\qbg ol =+ 5&%0\@5 O Hoe -+ 0,,8’00\ - (2,00



